P SC B 4% JehifT

m 5 K&} 70 bar
mOBEFLATFEN R
m (T RNE T B FF X 5 LPS4.0

ER/ZFFE
© BEEHEN A+ /PRI TF RO FLRO KL

BARRR

o [£/13EE7-70bar

e KEREHRE

o THIRAUBEAE IR RIS AR, . RIEETL
o R K ENEE

o NEHEATERE

o @I IEIR T K Bk ELPSHE TI T4

o MERGITERBEERIO uym

o ;& JE M HM32 1SO 3448

SIN-S img®
m FUDTL + FEER TS R IRIRAL f —————
TG i T
SIN-S HRE i - ]—ﬂ
o SAEL SIN-S 125 Id. No. 33093112 hr L E@E [I;— R A i e B o |
o iE&EHESL |d. No. 043271 E J:J EE = 1l — :-‘ = = U
(FEFTAFFR) - || o
RU-2-22 RU-1-16 '—jﬁf i
1d. No. 044970 1d. No. 043271 —

SIN-PXP #4:M e Rs%
m FUDTL + BEER TS R IRIRAL
TR He=—=——"7
SIN-S #RfEH T WL -
" T PP i e E %P Bl e

.No. 77093112 e — @@[@ & :::*WAZEUI
o (2)* PXPRFE (Z2ZRRIMYED) L P77 -
o Id. No. 60557915 (T &tk &k=%) RU-2-22 RU-1-16 ﬂr‘ | I
o JiEdE3ESk Id. No. 044970 1d. No. 044970 1d. No. 043271 -
* AR LE (1) 70 (2) ATLAER B AT RO SR AY S 55 3309291212 (4

(EN TEZRE"SIN-S & PXPLEHE")
SIN-LPS-4.0 #s:MeiRs:
m FubFL + FERRIESL R RRIELL —
T8 Bl — =
SIN-S #RESY —— I i F‘L |
o SHEL SIN-S 125 E & | LAl —
* FF PXP/LPS Id. No. 77093112 5 f‘ “ @@@ BT o 4
° LPS 4.04H 1 (SZZEAN0%) Id. No. 046588 L \Hf‘ -
o EEE1ESk 1d. No. 044970 RU-2-22 RU-1-16 L -
1d. No. 044970 1d. No. 043271

FAREH
[ SMW-AUTOBLOK &5 | SIN-5 50 | SIN-S 70 [ SIN-S 85 |SIN-S 100 | SIN-S 125 | SIN-S 150 SIN-S 175 SIN-S 200 | SIN-S 250 |
[SIN-S#RE®  [33093105/33093107|33093109|33093110|33093112[33093115]33093117 33093120 33093125 |
mmm
é%ﬁﬁ,\ cm? 103 157 212 280 457
BXEH bar 70 70 70 70 70 70 70 70 50
H#ERIH7 / 40 bar kN 545 11 19 26 41 62 84 112 180
thmHE dm?min 1 1 1 1 1 1 1 2 2
REEEIR r.p.m. 7000 7000 7000 7000 6000 6000 5000 4000 2000
22 kg 8.5 85 8 11 16 20 24 45 88
®oiiE kg-m? 0.012 0.012 0.012 0.016 0.04 0.08 0.12 0.32 0.92

T &M [EH30 bar FiEE50°CHE}
298 SMW-AUTOBLOK



R SE B 4% kT

m 5 AHE 7 70 bar
m LB FLA FHE N R

m TR SR I FF X 5 LPS4.0

Q H T_v‘
lw) r
02 : D s |
N g
L | :
I B 7 |
F1 o X \O
K2 ] o B
HE=S R . - g
FIHHHEEN"A ! { 1 lelo lal=lo | 14— S
N LT @ @1/17_1_ g g S B-\
dl | ¥ §2\ Al Y?s
- @ %/
] Z M
. w ] SRESD
|
§ AT SIN-S 50 -

REBRAREK
MEFEMES, EEREFER

SMW-AUTOBLOK /& | SIN-S 50 | SIN-S 70 | SIN-S 85 |
A mm 53 68 85

B h7
c
D3

LEHER TSk F1

K2 J6
K3 H8

RA/E

TRE(TIE

N'<><§SSC_'V”°33'°0§

p1
p2

s H8

mm
mm
mm
mm
mm

50
100

6x9

120

6x9

50
100

120

50
100
6x9
120

M20x 1.5 M20x 1.5 M20x 1.5

M16x 1.5 MI16x 15 M16x1.5 M16x 1.5

32
30
200
5
12.5
20.5
18
17
73

G 3/8"

55
55
48
77

158.5
55/30

112
25
10
30
40
10
67
27

235
30
30

M5

20
6

235

32
30

200

5

12.5
20.5

18
17
73

G 3/8"

55
55
48
77

158.5
55/15

112
40
10
30
40
10
67
27

30
30
M5
20
6

32
30
192
5
12.5
20.5
18
17
73
G 3/8"
55
55
48
77
150.5
47 /15
104
32
10
30
40
10
67
27
235
30
30
M5
20
6

100
80
120
6x11
140
M24

40
38
196

12.5
25
18
18
73

G 3/8”
55
55
48
77

154.5

47 /15

104
32
10
30
45
10
72
27

235
30
30
M5
20

515 100]51-5 125 55 1501005 175 005 200

125 150 175
95 95 125
145 170 195
6x13 6x13 6x13
166 192 217
M30 M30 M36
M16x 15 M16x15 M16x15
50 50 60
48 48 58
216 216 226
5 5 5
12.5 12.5 12.5
31 31 37
18 18 18
24 24 28
73 73 73
G 3/8" G 3/8" G 3/8"
55 55 55
55 55 55
48 48 48
77 77 77
174.5 174.5 184.6
70/30 70/30 70/ 25
122 122 132
40 40 45
10 10 10
30 30 30
55 55 55
10 10 10
85 85 92
27 27 27
23.5 23.5 23.5
30 30 30
30 30 30
M5 M5 M5
20 20 20
6 6 6

200 250
125 160
225 275

6x17 6x17
250 300

M42 x 3 M42 x 3

M16x 1.5 M16x 1.5

65 65
62 62
288 313
5 5
12.5 12.5
44 44
18 18
123 123

G 12" G1/2"
65 65
65 65
59 59
97 97
238 268

80/30 85/25
140 160
50 60
12 12
36 36
60 60
12 12
27 27
36 36
30 30
30 30
M5 M5
20 20
6 6

SMW-AUTOBLOK 299






